
08 - 2011
B-02945

ULTRA AUTO 4Y ASSY LH

1

2

3

4

5

6

87

109

11

12

Item No. Part No. Description Q'ty Unit
1 A-15958 1 PC.
2 A-15970 1 PC.
3 A-15986 1 PC.
4 A-15992 1 SET
5 A-16003 1 PC.
6 A-16097 1 SET
7 A-16025 1 PC.
8 A-16031 1 PC.
9 A-16047 1 PC.
10 A-16053 1 PC.
11 A-16069 1 PC.
12 A-89193

COVER FOR ULTRA AUTO, BLUE
SPOOL
KNOB HEAD FOR ULTRA AUTO
EYELET FOR U.AUTO & BF4L, 2PC/SET 
HOUSING (L.H) FOR ULTRA AUTO, BLUE 
SPRING(REGULAR:RED)FOR U.AUTO, 2PC/SET 
A-NUT M8 (L.H) FOR ULTRA AUTO
B-NUT M10 (L.H) FOR ULTRA AUTO
C-BOLT M8-M10(L.H)
D-BOLT M7-M10 (L.H)
SPECIAL WRENCH FOR ULTRA AUTO
NYLON LINE, 2.4MM X 3M 1 PC.


